First cousins have either 1, 2, 3, or 4 common ancestors two generations higher.

1. 1/4 Cousins (1 common grandparent)
a. Al marries Betty and they have one son David

b. Al marries Charlotte and they have one son Edwin

c. David and Edwin are half brothers.

d. Frances and Gladys are not related.

e. David marries Frances and they have one child Henry

f. Edwin marries Gladys and they have one child Ivan

g. Henry and Ivan are cousins and have one common grandparent – Al

2. 1/2 Cousins (2 common grandparents)
a. Al marries Betty and they have two sons, David and Edwin

b. David and Edwin are brothers.

c. Frances and Gladys are not related.

d. David marries Frances and they have one child Henry

e. Edwin marries Gladys and they have one child Ivan

f. Henry and Ivan are cousins and have two common grandparents – Al and Betty.

3. 3/4 Cousins (3 common grandparents)
a. Al marries Betty and they have one son David

b. Al marries Charlotte and they have one son Edwin

c. David and Edwin are half brothers.

d. John marries Karen and they have two daughters, Frances and Gladys
e. Frances and Gladys are sisters.

f. David marries Frances and they have one child Henry

g. Edwin marries Gladys and they have one child Ivan

h. Henry and Ivan are cousins and have three common grandparents – Al, John, and Karen.
4. 4/4 Cousins (4 common grandparents)
a. Al marries Betty and they have two sons, David and Edwin

b. David and Edwin are brothers.

c. John marries Karen and they have two daughters, Frances and Gladys

d. Frances and Gladys are sisters.

e. David marries Frances and they have one child Henry

f. Edwin marries Gladys and they have one child Ivan

g. Henry and Ivan are cousins and have four common grandparents – Al, Betty, John, and Karen.

1st cousins have 4 grandparents, 1 of which must be in common

2nd cousins have 8 ancestors, 1 of which must be in common

3rd cousins have 16 ancestors, 1 of which must be in common

4th cousins have 32 ancestors, 1 of which must be in common

5th cousins have 64 ancestors, 1 of which must be in common

6th cousins have 128 ancestors, 1 of which must be in common

So someone could be my 1/128 6th cousin, or they could be my 15/128 6th cousin.

At the same time they could by my 4/64 fifth cousin through different ancestors relationships in that generation.
I'm trying to state that two people who are 15/128 6th cousins are more genetically related than two people who are 1/32 fourth cousins, for example.

I'm trying to define how closely related people are, especially those that live in remote close knit villages such as northern Sweden.  My theory is that any 2 individuals in this village are more "strongly" related, that is they have a higher number of common ancestors, especially going up 30 generations or so to around the year 1000 AD.
